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Practice Worksheet: Graphing Quadratic Functions in Intercept Form

For #1-6, label the x-intercepts, axis of symmetry, vertex, y-int., and at least one more point on the graph.

y=-(x+4)(x—2)

2]y = —;x(x—8)

Ny =@ +2)(x-2)

x-intercepts: ( ,0) ( ,0) | x-intercepts: ( , 0) ( , 0) | x-intercepts: ( , 0) ( , 0)
Axis of Symmetry is x= Axis of Symmetry is x= Axis of Symmetry is x=
Vertex: ( , ) Vertex: (___ , ) Vertex: (__ , )
y-intercept: (0, ) y-intercept: (0, ) y-intercept: (0, )
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4]y = =3 (x+1)(x - 5) 5y =4(x+2)(x+1) 6]y =—(x—3)(x-3)
x-intercepts: ( L0)( .0) x-intercepts: ( 5 )L , 0) | x-intercepts: ( ,0)( , 0)
Mok 1'% etry is x= Axis of Symmetry is x= Axis of Symmetry is x=
Vertex: ( , ) Vertex: ( , ) Vertex: ( , )

y-intercept: (0, )
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Y =AX-p)c-q)

Write the equation of the parabola in intercept form.
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Write the equation.

Y=3(x+2)(X-3)

p=2 a=4f x=0 y=-4
Find a. y
_i ZAC2D(4)
— 4= Ba
a=-Y2
Write the equatlon

(,/ =5 (x-2) (X~ 4)
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Find a.
Write the equation.

Write the equation.
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(1,-4

Find a.

Write the equation.

Write the quadratic function in standard form.

13] y=2(x + 9 (x - 2)

4] y=—-(x - D(x—-1)

15] y=3x+3)(x+1)
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Practice Worksheet: Graphing Quadratic Functions in Intercept Form

For #1-6, label the x-intercepts, axis of symmetry, vertex, y-int., and at least one more point on the graph.

y=s&+4)@x-2)

x-intercepts: ( ’4 ,0) ( 2 ,0)

Axis of Symmetry is x=_ f

Vertex: ( —l ,-—lf.

y-intercept: (0, "4 )
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2]y = —x(x—8)

xX-intercepts: ( 8 ,0)( O ,0)

Axis of Symmetry is x= 24

Vertex: (A’_, g_ )

y-intercept: (0, O )
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3ly=(x+2)(x-2)

x-intercepts: ( '0? ,0) ( A ,0)
Axis of Symmetry is x=__( 2

Vertex: (_O_, i)

y-intercept: (0, _4 )
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4]y = =3 (x+1)(x=5)

x-intercepts: ( —| ,0) ( 5 ,0)

Axis of Symmetry is x= e

Vertex: ( 2 , 6 )

P
y-intercept: (0, |5 )
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Sly=4(x+2)(x+1)

x-intercepts: ( 7 , 0 ( ] ,0)
-1.5

Axis of Symmetry is x=

Vertex: (’E, )

y-intercept: (0, g )

1

6]y =—(x—-3)(x—3)
x-intercepts: ( . , 0) ( 5 , 0)

Axis of Symmetry is x= 2

Vérex: (i, Q}

y-intercept: (O,EGI )
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Y = A X-PYO-%)

Write the equation of the parabola in intercept form.
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p="Aa=5 x= y= 1%
Finda. (3= A(4)(-1)
...-,;2: -40_
3=0
Write the equation.

Y= 3(x+2) (X-3)
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Write the equation.

Y =& (X2 H4)
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p=2 q=7 x=—4 y=—-2

Finda. —=A(I)(6)
= =~k
F=a

Write the equation.

Y= £ (x+5)X-2)
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p=b q=3 x="T} y= b
Finda. —(, = (L (Q) (-D
~b=-da
2=0
Write the equation.

Y= 3x+6)(X +3)
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P=d_‘5q=0 X=—" Y=H0
Finda. [(, = 2 C4) (1)
lb=-4c
-4 =a
Write the equation.

Y= ~4 X(x+5)
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Write the equation.

Y= -%CxBD-T)
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Write the quadratic function in standard form.

13] y = 2(x +4)(x — 2)
y=F(x+ax-8)
Y= LxHx -4

4] y=-(x-D(x-1)

Y = [ (XZax+1)
gz;xﬂax-!

15] y=3(x +3)(x+ 1)

Yi=3 (X4 4x+3)
Y- 3 F12X +9




